|+

@ 04+03=0.7

® 04+02=0.6

@0.4 +0.5=09

® 05+04=09

® 03+06=0.9

- 05--__
0.9

-

-

~

0.4~

0.4

04+4+0.5=0.9




@ (1)0.2 (2) 1.1
® (1) 1.3 (2) 1.1

® (1) 0.2 (2) 1.2

(1) 0.5+08=13

(2) 0.7-04=03




@wos@03 @ 1)08207 @ (1)07(2)08
@ (1)1.3(2003 & (1)1.3(2)0.7

(1)1-02=10-02=038
(2) 0.5-0.2=0.3




4. ok [ ool gl 5 AR 17 AL N2,

(1) 0.35 = 0.01 ©] [ ]7Heo]x, 0.11 2 0.01 o] [ |7AQUIe}.
(2) 0.35+0.11 & AupdY7}?

@ (1) 3.5,1.1 (2) 0.46 @ (1) 3.5,11 (2) 0.46
® (1) 35,1.1 (2) 0.46 @(1) 35,11 (2) 0.46
® (1) 350,110 (2) 0.46

(1) 0.35 & 0.01 ©] 35 7io] 1,
0.11 = 0.01 ©] 11 7Ro|ct.
(2) 0.35 4 0.11 = 0.46




5. =< EEA AR Ae 1EAL,

(1) 0.71+0.37  (2) 0.04+0.25

@(1) 1.08 (2) 0.29 @ (1) 1.08 (2) 0.21
@ (1) 1.08 (2) 0.19 @ (1) 0.98 (2) 0.29

® (1) 0.98 (2) 0.21

(1) 0.71 4 0.37 = 1.08
(2) 0.04 + 0.25 = 0.29




hdeo] Mg ke AL AL LA,

(1) 0.78 = 0.17  (2) 0.48 - 0.23

@ (1) 0.59 (2) 0.225 @ (1) 0.6 (2) 0.25
@) 061 (2) 025 @ (1) 0.61 (2) 0.35
® (1) 0.62 (2) 0.35

(1) 0.78 = 0.17 = 0.61
(2) 0.48 — 0.23 = 0.25




Sy
>
lo
N
il
L
)
<
>
ol
Mo
P
filo
K
ru
>,
o

0.88 0.35
(1)
0.49 0.67
(2)
D (1) 0.51 (2) 0.28 @ (1) 0.52 (2) 0.18
® (1) 0.52 (2) 0.28 @(1) 053 (2) 0.18

® (1) 0.53 (2) 0.28

g F 2 oA A2 5 W
1

(1) 0.88 — 0.35 = 0.53
(2) 0.67 —0.49 = 0.18




ey

[ ool gdgre 5 vt £ AL 2L,

(1) 5.789 4 2.981 =
(2) 3.892 + 5.002 =

@ (1) 8.769 (2) 8.884 @ (1) 8.769 (2) 8.894
@ (1) 8.77 (2) 8.884 @) (1) 8.77 (2) 8.804
® (1) 8.771 (2) 8.894

(1) 5.789 + 2.981 = 8.77
(2) 3.892 + 5.002 = 8.894




10.802-7.263-1.998 = |-1.998 = |

@ 3.528, 1.54 @ 3.529, 1.541 @ 3.538, 1.54
@3.539, 1.541 ® 3.539, 1.551

10.802 — 7.263 — 1.998
= 3.539 — 1.998 = 1.541




10. Theg e A4S e 12,

(1) 29.1 +2.34  (2) 17.46 + 1.86

@ (1) 31.35 (2) 19.22 @(1) 31.44 (2) 19.32
@ (1) 31.35 (2) 19.42 @ (1) 31.44 (2) 19.22

® (1) 31.35 (2) 19.32

(1) 29.1 +2.34 = 31.44
(2) 17.46 + 1.86 = 19.32




(1) 5.307-3.95  (2) 8.56 — 6.64

@ (1) 1.357 (2) 2.02 @ (1) 1.357 (2) 1.96
(@)(1) 1.357 (2) 1.92 @ (1) 1.352 (2) 1.96
® (1) 1.352 (2) 1.92

(1) 5.307 — 3.95 = 1.357
(2) 8.56 — 6.64 = 1.92




12. [ | gbef ggre 5 upEA 3 Fhe 12,

(1) 13.7m + 116cm = |m
(2) 28cm + 2.9m :Em

@ (1) 14.82 (2) 30.9 @ (1) 14.83 (2) 30.9

® (1) 14.84 (2) 30.9 @ (1) 14.85 (2) 3.18

O

®)(1) 14.86 (2) 3.18

(1) 13.7m + 1.16 m = 14.86( m)
(2) 0.28m +2.9m = 3.18(m)




13. ©heg vt ALE AL 124,

(1) 7.81 4 2.89 - 2.31 (2) 3.334+11.32-8.73
@ (1) 8.29 (2) 5.82 @ (1) 8.29 (2) 5.92
® (1) 8.38 (2) 5.82 @ (1) 8.39 (2) 5.82
@) .39 (2) 5.92

(1) 7.81 +2.89 — 2.31 = 10.7 — 2.31 = 8.39
(2) 3.33 +11.32 - 8.73 = 14.65 — 8.73 = 5.92




14. to& HEA AL g A=AL.

(1) 17.5 - 8.47 + 3.962
(2) 10.45 + 2.76 — 5.147

@ (1) 11.982 (2) 7.063 @ (1) 11.992 (2) 8.063
® (1) 12.982 (2) 7.063 @(1) 12.992 (2) 8.063
® (1) 12.995 (2) 8.063

(1) 17.5 — 8.47 + 3.962 = 9.03 + 3.962 = 12.992
(2) 10.45 + 2.76 — 5.147 = 13.21 — 5.147 = 8.063




15. A4 ko] 2 A%H A= 758 £ A8 249,
@ 10.1 — 3.64
© 5.27 + 1.79
© 8.02-0.55
® 0-6-© @ 5-0-© ®e-ca
@® 066 ® ©-6-0

B

@ 10.1 - 3.64 = 6.46

© 5.27 + 1.79 = 7.06

© 8.02 - 0.55 = 7.47

e, 2 5 E AEY = 7|28 23
© 747, © 7.06, @ 6.46 ©]ct.




